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Grade 6 Mathematics Reference Sheet

CONVERSIONS
Tinch = 2.54 centimeters 1 kilometer = 0.62 mile 1 cup = 8 fluid ounces
1 meter = 39.37 inches 1 pound = 16 ounces 1 pint = 2 cups
1 mile = 5,280 feet 1 pound = 0.454 kilogram 1 quart = 2 pints
1 mile = 1,760 yards 1 kilogram = 2.2 pounds 1gallon = 4 quarts
1 mile = 1.609 kilometers 1ton = 2,000 pounds 1 gallon = 3.785 liters
1 liter = 0.264 gallon
1 liter = 1,000 cubic centimeters
FORMULAS
Triangle A= %bh
Right Rectangular Prism V = BhorV = lwh




2-Point Holistic Rubric

2 Point A two-point response includes the correct solution to the question and
demonstrates a thorough understanding of the mathematical concepts
and/or procedures in the task.

This response

* indicates that the student has completed the task correctly, using
mathematically sound procedures

* contains sufficient work to demonstrate a thorough
understanding of the mathematical concepts and/or procedures

* may contain inconsequential errors that donot detract from the
correct solution and the demonstration of a thorough
understanding

1 Point A one-point response demonstrates onlv a partial understanding of the
mathematical concepts and/or procedures in the task.

This response
correctlv addresses onlv some elements of the task
may contain an incorrect solution but applies a mathematically
appropriate process
* may contain the correct solution but required work is
incomplete
0 Point* A zero-point response is incorrect, irrelevant, incoherent, or contains a

correct solution obtained using an obviously incorrect procedure.
Although some elements may contain correct mathematical procedures,
holistically thev are not sufficient to demonstrate even a limited
understanding of the mathematical concepts embodied in the task.

*Condition Code A is applied whenever a student who is present for a test session

leaves an entire constructed-response question in that session completely blank (no
response attempted).




Score Points:

3-Point Holistic Rubric

3 Point A three-point response includes the correct solution(s) to the question and demonstrates a
thorough understanding of the mathematical concepts and/or procedures in the task.
This response
* indicates that the student has completed the task correctly, using mathematically
sound procedures
® contains sufficient work to demonstrate a thorough understanding of the
mathematical concepts and/or procedures
®* mav contain inconsequential errors that do not detract from the correct solution(s)
and the demonstration of a thorough understanding
2 Point A two-point response demonstrates a partial understanding of the mathematical concepts
and/or procedures in the task.
This response
s appropriately addresses most, but not all aspects of the task using mathematically
sound procedures
* may contain an incorrect solution but provides sound procedures, reasoning, and/or
explanations
* mav reflect some minor misunderstanding of the underlying mathematical concepts
and/or procedures
1 Point A one-point response demonstrates only a limited understanding of the mathematical
concepts and/or procedures in the task.
This response
* mav address some elements of the task correctly but reaches an inadequate solution
and/or provides reasoning thatis faulty or incomplete
o exhibits multiple flaws related to misunderstanding of important aspects of the task,
misuse of mathematical procedures, or faulty mathematical reasoning
reflects a lack of essential understanding of the underlving mathematical concepts
may contain the correct solution(s) but required work is limited
0 Point* A zero-point response is incorrect, irrelevant. incoherent, or contains a correct solution

obtained using an obviously incorrect procedure. Although some elements mav contain
correct mathematical procedures, holistically thev are not sufficient to demonstrate even a
limited understanding of the mathematical concepts embodied in the task.

*Condition Code A is applied whenever a student who is present for a test session leaves an entire
constructed-response question in that session completely blank (no response attempted).




2017 2- and 3-Point Mathematics Scoring Policies

Below are the policies to be followed while scoring the mathematics tests for all grades:

1.

10.

If a student shows the work in other than a designated “Show your work™ or “Explain™
arca. that work should still be scored.

If the question requires students to show their work, and the student shows appropriate
work and clearly identifies a correct answer but fails to write that answer 1n the answer

blanlk, the student should still receive full credat.

If students are directed to show work, a correct answer with no work shown recerves no
credit.

If students are not directed to show work, any work shown will not be scored. This
applies to items that do not ask for any work and items that ask for work for one part and
do mot ask for work in another part.

If the student provides one legible response (and one response only), the rater should
score the response, even if 1t has been crossed out.

If the student has written more than one response but has crossed some out, the rater
should score only the response that has not been crossed out.

Trial-and-error responses are not subject to Scoring Policy #6 above, since crossing out 1s
part of the trial-and-error process.

If a response shows repeated occurrences of the same conceptual error within a question,
the conceptual error should not be considered more than once in gauging the
demonstrated level of understanding.

In questions requiring number sentences, the number sentences must be written
horizontally.

Condition Code A 15 applied whenever a student who 1s present for a test session leaves
an entire constructed-response question 1n that session completely blank (no response
attempted). This 1s not to be confused with a score of zero wherein the student does
respond to part or all of the question but that work results 1n a score of zero.



52 Dana and Monigue are dog groomers. Dana’s workday is 10 hours and

Monigue's workday is 8 hours. Dana and Monigue each work 40 hours per week.

On Monday, Dana groomed 15 dogs in 10 hours and Monlgue greomed 10 dogs in
& hours. They each earn $12.75 for each dog groomed. Assuming that for the rest of
the week Dana and Monlgue groom the same number of dogs per workday as they
did on Menday, what will be the difference between thelr weekly earnings?

Show your work.

ARswWer




EXEMPLARY RESPONSE

52

Dana and Monique are dog groomers. Dana’s workday is 10 hours and
Monique's workday is 8 hours. Dana and Monigue each work 40 hours per week.

On Monday, Dana groeomed 15 degs in 10 hours and Monlque greomed 10 dogs in
8 hours. They each earn $12.75 for each dog groomed. Assuming that for the rest of
the week Dana and Monlgue groom the same number of dogs per workday as they
did on Monday, what will be the difference between thelr weekly earnings?

Show your work.

Dana:
4 days/week
15 =4=60

Monique:
5 days/'week
10 =5=50

60 —50=10
10=1275=127.50
The differenceis $127.50

Or other valid process

Arswer

$127.50




GUIDE PAPER 1 Additional

52

Dana and Monique are dog groomers. Dana's workday is 10 hours and
Monique’s workday is 8 hours. Dana and Monigue each work 40 hours per week.

On Monday, Dana groomed 15 dogs in 10 hours and Monigue greomed 10 dogs In
8 hours, They each earn $12.75 for each dog groomed. Assuming that for the rest of
the week Dana and Maonique groom the same number of dogs per warkday as they
did en Menday, what will be the difference between thelr weekly earnings?

Show yowr work,

Danqa: $15 a week
HO+10 = Y4 dcﬂs a week
$141.25x Y days = 375 < o week

-

Mm\%ue._ P35O0 o week

o+ =5 dmkjia- a weck
$12.15 %10 doqs = $1217.50 ¢« one dcnj
$127.50 % 5 days = $ L37.50<¢ a week

$IL5 - $637T 50 <(3121.50

Answer
$127.50

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathemategis in
the task. The weekly earnings of both groomers and the difference between
earnings are correctly determined using mathematically sound procedures.




GUIDE PAPER 2

52

Dana and Monique are dog groomers, Dana’s workday is 10 hours and

Monique's workday is 8 hours. Dana and Monique each work 40 hours per week.

On Monday, Dana groomed 15 dogs in 10 hours and Monique groomed 10 dogs in
8 hours. They each earn $12.75 for e roomed. Assuming that for the rest of

the week Dana and Monique groom the same number of dogs per workday as they
did on Monday, what will be the difference between thelr weekly earnings?

Show your work.

B4 = (O 1R75=F7 5
05 = 50 x & 936375

7050
L3755
AL S

Answar
Dona W\ &Gyn |\ 91 5 migye tnan Monigare,

Score Point 2 (out of 2 points)

This response demonstrates artlugh understanding of the mathematical conceptg
the task. The weekly earnings of both groomers and the diffetestveeentheir

earnings are correctly determined using mathematically sound procedures.




GUIDE PAPER 3

52

Dana and Monigue are dog groomers, Dana’s workday is 10 hours and

Monigue's workday is 8 hours. Dana and Monique each work 40 hours per week.,

On Maonday, Dana groomed 15 dogs in 10 hours and Monigue groomed 10 dogs in
8 hours. They each earn $12.75 for each dog groomed. Assuming that for the rest of
the week Dana and Monique groom the same number of dogs per workday as they
did on Monday, what will be the difference between their weekly earnings?

Show your work.

{ “f J - (
; U
f—"__._“_' Ta
$~1r 1A
- ‘-lt:h l \_' - T
Apswer
'E— 19 =

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task. The difference in the number of dogs groomed per week is cori
calculated, and the difference between earnings is correctly determsiag

mathematally sound procedures.




GUIDE PAPER 4

52 Dana and Monique are dog groomers. Dana’s workday is 10 hours and

Monique's workday is 8 hours, Dana and Monigque each work 40 hours per week,

On Monday, Dana groomed 15 dogs in 10 hours and Monlque groomed 10 dogs in
8 hours. They each earn $12.75 for each dog groomed. Assuming that for the rest of
the week Dana and Monique groom the same number of dogs per workday as they
did en Monday, what will ke the difference between thelr weekly earnings?

12.75Q@
|5 ‘x X

41237150

191,25

Show your work.

'3l
L 1050
'Y\ .25 a5
M 8150

765.00 -
s
.40
_g7.50
17.50

Answar

§Tlso

Score Point 1 (out of 2 points)

This response demonstrates only a partial understanding of the mathematical ca
in the task. Darma weekly earnings arealculatedcorrectly; howevera calculation
error occurs when determining Monid@eveekly earnings (12765), resulting in an
incorrect final solution.The response&ontains an incorrect solution but applies
mathematically appropriate process

10



GUIDE PAPER 5

52

Dana and Monigue are dog groomers. Dana’s workday is 10 hours and
Monique's workday is 8 hours. Dana and Monigue each work 40 hours per week.

On Monday, Dana groomed 15 dogs in 10 hours and Monlque groomed 10 dogs in
8 hours. They each earn $12.75 for each dog groomed. Assuming that for the rest of
the week Dana and Monligue groom the same number of dogs per workday as they
did on Monday, what wlif be the difference between their weekly earnings?

Show your work. : A 1<
\A e %I
202 5000,

X 15 t
)

Score Point 1 (out of 2 paints)

This response demonstrates only a partial understanding of the mathematical cg
in the task. The differencbetweendaily earnings rather than weekly earnings
calculated. The responserrectlyaddresses only some elements of the task.

11



GUI DE PAPER 6

52 Dana and Monique are dog greomers. Dana’s workday is 10 hours and

Monigue's workday is 8 hours. Dana and Monigque each work 40 hours per week.

On Monday, Dana groomed 15 dogs in 10 hours and Monique groomed 10 dogs in
8 hours. They each earn $12.75 for each dog groomed. Assuming that for the rest of
the week Dana and Monique grocm the same number of dogs per workday as they
did on Monday, what wiil be the difference between thelr weekly earnings?

Show your work.

19 20,
1919

Answer 3 )
Tve A Secence v NT.50.,

l"“h.._. : B e o

Score Point 1 (out of 2 points)

This response demonstrates only a partial understanding of the mathematical cg
in the task. Although correct answexe providedor daily and weekly earnings ag
well as the differencbetweenweekly earnings, the response contdinsited work to
support them. The responsmntains the correct solution but required work
incomplete.

12



GUIDE PAPER 7

52

Dana and Monique are dog groomers, Dana’s workday is 10 hours and

Monique’s workday is 8 hours. Dana and Monique each work 40 hours per week.

On Monday, Dana groomed 15 dogs in 10 hours and Monique groomed 10 dogs in
8 hours. They each earn $12.75 for each dog groomed. Assuming that for the rest of
the week Dana and Monique groom the same number of dogs per warkday as they
did on Monday, what will be the difference between their weekly earnings?

Show your work.

Answer

_ 925 5 MY aaNex

Score PointO (out of 2 points)

Although Dan& daily earnings are calculated corhgcholistically this calculation
alone is not sufficient to demonstrate even a limited understanding of
mathematical concepts in the task.

13




GUIDE PAPER 8 Additional

52

Dana and Monique are dog groomers. Dana’s workday is 10 hours and
Monique's workday is 8 hours. Dana and Monique each work 40 hours per week.

On Monday, Dana groomed 15 dogs in 10 hours and Monlque groomed 10 dogs in
8 hours. They each earn $12.75 for each dog groomed. Assuming that for the rest of
the week Dana and Monlque groom the same number of dogs per workday as they
did on Monday, what will be the difference between thelr weekly earnings?

Show your work.
Dm U\G'f\lq,l{%
$12.7S B eSS
— Ye st
1 2.6
__?p\z.tpé s
$1 294
%IZISD
Answer

_ Tikese. Somitas will georegse -

This response is not sufficient to demonstrate ewdmited understanding of the
mathematical concepts in the task. An incorrect procedure of subtracting hours
dollars isusedto determine the solution.

Score Point 0 (out of 2 points)

14



53

The formula below is used to convert a temperature in degrees Celsius, C, to a
temperature in degrees Fahrenheit, F,

F = 1.8C + 32
The high temperature in a mountain city was 15°C. What was the high temperature in

degrees Fahrenheit?

Show your work.

Answer °F

15




EXEMPLARY RESPONSE

53

The formula below is used to convert a temperature in degrees Celsius, C, to a

temperature in degrees Fahrenheit, F.
F 1.8C + 32

The high temperature in a mountain city was 15°C. What was the high temperature in

degrees Fahrenheit?

Show your work,

F=18x15+32

F=27+32=59

Or other valid process

59

Answer F

16




GUIDE PAPER 1
53

Additional

The formula below is used to convert a temperature in degrees Celsius, C to a
temperature in degrees Fahrenheit, F.

F=18C+ 32

The high temperature in a mountain city was 15°C. What was the high temperature in
degrees Fahrenheit?

Skow your work.

T
T
o)
oY
4
\J~
=

Al
1

T
1!

A

-0

Answer 5 q *f

ScorePoint 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.The response correctlyses the given formula to convert the hig

temperature tdegrees Fahrenheit.

17



GUIDE PAPER 2

53

The formula below is used to convert a temperature in degrees Celsius, C, to a

temperature in degrees Fahrenheit, F.

F=18C+32

The high temperature in a mountain city was 15°C. What was the high temperature in
degrees Fahrenheit?

Show your work.
=y TS

Answer ._..}q *F

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong

the task.The response correctly uses the given formula to convert the
temperature to degrees Fahrenheit.

18



GUIDE PAPER 3

53 The formula beilow is used to convert a temperature in degrees Celsius, C, to a

temperature in degrees Fahrenheit, F.
F=18C+32

The high temperature in a mountain city was 15°C. What was the high temperature in
degrees Fahrenheit]

Show your work. b!
J. G 15432 I 8
37432 «; 5
5 5

_ilr

Answer 5 'q by

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.The response correctly uses the given formula to convert the
temperature to degrees Fahrenheit.

19



GUIDE PAPER 4

53

The formula below is used to convert a temperature in degrees Celsius, C, to a
temperature in degrees Fahrenheit, F.

F=18C+ 32
The high temperature in a mountain city was 15°C. What was the high temperature in
degrees Fahrenheit?

Show your work.
1BC,+3Q, V1 K

-
FF\l If\4..\ (&

~— =, D
"i\-l.1 }
30N
}ﬂ"\
Ansu'crﬂ“"‘ *F

This responsdemonstrates only a partial understanding of the mathematical con
in the task. This response contains a correct equéienl.8 x 15+ 32); however,
there is a calculation error in solving for the degrees Fahrenhedtx (5= 270).

This response contains an incorrect solution but applies a mathematically apprg
process.

ScorePoint 1 (out of 2 points)

20



GUIDE PAPER 5

53

The formula below is used to convert a temiperature in degress Celsius, C, to a

temperature in degrees Fahrenheit, F.

F=18C+ 32
The high temperature in a mountain city was 15°C. What was the high temperature in
g . : e,
dagress Fahrenheit?

Show your work. Y

=
Answer A "L e

Score Point 1 (out of 2 points)

This responsdemonstrates only a partial understanding of the mathematical con
in the task. The response correctly multiples 1.8 and tbbget 27°; however, the
constanin the formula is omitted while converting from degrees of Celsius to deg
of Fehrenheit. This response correctly addresses only some elements of the task

21



GUIDE PAPER 6

53

The formula below is used to corwert a tamperature in degrees Celsius, C, to a

temperature in degrees Fahrenheit, F.
F=18C+ 32

The high temperature in a mountain city was 15°C. What was the high temperature in
degrees Fahrenheit?

Show YouF Work.

b

F ,
-2 5-5 [ e133 ﬁ%

r‘i—"
1S
. e e - |
QI .‘H‘—_:S].qi
‘]O “f 2]
| a3 {3 B
3 5 302 Sg
i
3
<0

Score Point 1 (out of 2 points)

This responsdemonstrates only a partial understanding of the mathematical con
in the task. This response comisia correct equatiorir & 1.8 A1L5°c + 32); however,
there is a calculation error in solving for the degrees Fahrenhedtx (5= 270).
This response contains an incorrect solution but applies a mathematically apprg

process

22



GUIDE PAPER 7

53

The formula below is used to convert a temperature in dearees Celsius, C, to a

temperature in degrees Fahrenheit, F.
F=18C+32

The high temperatufe in a mountain city was 15°C. What was the high temperature In
degrees Fahrenheit?

Show your work.

2\

o~
o Ty Sy Y

o

= )
s 0N
-

Answer

Score Point 0 (out of 2 points)

Although this response correctly writes the expression to convert to deg
Fahrenheitthe student does naipply the order of operations properly okstically
this response is not sufficient to demonstrate even a limited understandihg (
mathematical concepts in the task

23



GUIDE PAPER 8 Additional

53 The formuls below is used ta convert a temperature in dagrees Celsius, C, to a

temperature in degrees Fahrenheit, F.
F=18C+32

The high temperature in a mountain city was 15°C. What was the high temperature in
degress Fahrenheit?

Show your work.

Answer *F

ScorePoint 0 (out of 2 points)

This responséds not sufficient to demonstrate even a limited understanding of
mahematical concepts in the tadkis response incorrectly divides 1% b.8.

24




54

A seamstress needs to cut 15-inch pieces of ribbon from a roll of ribbon that is
9 feet in length. What is the greatest number of 15-inch pieces the seamstress
can cut from 5 of these rolls of ribbon?

Show your work,

Answer —__________ pieces

25




EXEMPLARY RESPONSE

54

A seamstress needs to cut 15-inch pieces of ribbon from a roll of ribbon that is
9 feet in length. What is the greatest number of 15-inch pieces the seamstress
can cut from 5 of these rolls of ribbon?

Show your work.

O feet = 12 inches = 108 inches per roll of ribbon
108 + 15 =7 2 pieces per roll

T = 5=35 pieces

Or other valid process

Answer ______________ pieces

26




GUIDE PAPER 1 Additional

54 A seamstress needs to cut 15-inch pieces of ribbon from a roll of ribbon that is

9 feet in length. What is the greatest number of 15-inch pieces the seamstress
can cut from 5 of these rolls of ribbon?

Show your work.

@ ’Uf;? in. @ fe 925

1% 7

-
0
Answer _______ ~  pieces

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task. The number of piecdhat can be cut from a single roll of ribbon
calculated correctly and appropriately multiplied to account for all 5 rolls of ribbor

27



GUIDE PAPER 2

54 A seamstress needs to cut 15-inch pieces of ribbon from a roll of ribbon that is

9 feet in length. What is the greatest number of 15-inch pieces the seamstress
can cut from 5 of these rolls of ribbon?

Show your work.

Answer ,__,L pieces

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding rmfithematical concepts in
the task. The number of pieces that can be cut from a single roll of ribbg
calculated correctly and appropriately multiplied to account for all 5 rolls of ribbor

28



GUIDE PAPER 3

54 A ssamstress needs to cut 15-inch pieces of ribbon from a roll of ribbon that is

9 feet in length. What is the greatest number of 15-inch pieces the seamstress
can cut from 5 of these rolls of ribbon?

Show your work,

10}

=

Answer L pleces

Score Point 2 (out of 2 points)

Thisresponse demonstrates a thorough understanding of the mathematical conc
the task. The number of pieces that can be cut from a single roll of ribbg
calculated correctly and appropriately multiplied to account for all 5 rolls of ribh
As per Sceoing Policy#6, the work that has been crossed out should not be consid
in scoring.

29



GUIDE PAPER 4

54 A seamstress needs to cut 15-inch pleces of ribbon from a roll of ribbon that is

9 feet in length. What is the greatest number of 15-inch pieces the seamstress
“can cut from 5 of these rolls of ribbon?

Show your work. jL NCheS - 15cort
r I "l_._ ré | 1-‘1"1' r ..'1‘;..r"1\"'"-.
i Deited -~ 2 reed G iriChes
| "\u,-l.l'": "'Cilld‘\tll . O seA Cu b r.l.r T
g_‘ |I.‘>f- et . '5 {:EE"I"
E Qel0 €S —(p+Ex t+ =
] Pe es- "1edt s NMCHE
- : n-'.-'l- 4 ¥l 1“-"'"'
feices pec (ol
P
!h/}

Answer {H—C-' pleces

ScorePoint 1 (out of 2 points)

This response demonstrates only a partial understanding of the mathematical cq
in the task. 18nch pieces are cumulatively added untiie@t is reached; however, thg
count of pieces skips fromeces to pieces, resulting in an incorrect number (
pieces per roll. Té resultis then appropriately multiplied to account for all 5 rolls
ribbon. The reponse contains an incorrect solution but applies a mathemati
appropriate process.

30



GUIDE PAPER 5

o4 A seamstress needs to cut 15-inch pieces of ribbon from a roll of ribbon that is

9 feet in length. What is the greatest number of 15-inch pieces the seamstress
can cut from 5 of these rolls of ribbon?

Show your work.

\". ] \’] i U
b 112
C U n.
/ r (
\ 4 u{ f { { /
} l’) \
Answer _— pieces

ScorePoint 1 (out of 2 points)

This response demonstrates only a partial understanding of the mathematical co
in the task. The totaéngth in inches of all 5 rolls of ribbon is calculated correctly &
appropriately divided by 15 to calculate the number of pieces that can be
however, this approach fails to account for each individual roll having some leng
scrap material lefover. The response correctly addressely some elements of the
task.

31



GUIDE PAPER 6

54

A seamstress needs to cut 15-inch pieces of ribbon from a roll of ribbon that is

9 feet in length. What is the greatest number of 15-inch pieces the seamstress
can cut from 5 of these rolls of ribban?

Show your work.

2 |'
[ i S : / Pl )
/ 1/ Y e | . L
2 10Ch04< | £
i
L e
; K s .______ _/ﬂ: —r—..._
{.-"' = I|I r e 'llll. i\ %I\h'
Mt s,
o

" I Pecos, v idh

Answer i pieces

ScorePoint 1 (out of 2 points)

This response demonstrates only a partial understanding of the mathematical co
in the task.The number of pieces that cée cut from a single roll of ribbon ig
calculated correctly; however, this result is never multiplied to account for all 5
of ribbon.The response correctly addresses only some elements of the task.

32



GUIDE PAPER 7

54 A seamstress needs to cut 15-inch pieces of ribbon from a roll of ribbon that is

9 feet in length. What is the greatest number of 15-inch pieces the seamstress
can cut from 5 of these rolls of ribbon?

Show your work.

Q HD

| ‘n > :\';
Answer L.)_ pieces

Score Point 0 (out of 2 points)

Although some elements may contain correct mathematical procedures, holist
they are not sufficient to demonstrate even a limited understanding of
mathematical concepts in the taSke total length in feet of all 5 rolls of ribbon is
cdculated correctly; however, it is never converted into inches and is inappropri
multiplied by 15 rather than divided by 15.

33



GUIDE PAPER 8 Additional

54 A seamstress needs to cut 15-inch pieces of ribbon from a roll of ribbon that is

9 feet in length. What is the greatest number of 15-inch pieces the seamstress
can cut from 5 of these rolls of ribbon?

Show your work.

Answer _Z_L pieces

Score Point 0 (out of 2 points)

Although some elements may contain correct mathematical prosedwoikstically

they are not sufficient to demonstrate even a limited understanding of
mathematical concepts in the tadkie length of one roll of ribbon is correctly
converted to inches and then divided by 15 to calculate the number of piecesith
be cut; however, this result is never multiplied to account for all 5 rolls of ribbon
a decimal point is missing from the solution.

34



55

It is recommended that one fire extinguisher be available for every 6,000 square feet in
a building. Write and solve an equation to determine x, the number of fire
extinguishers needed for a building that has 135,000 square feet.

Show your work.

Answer fire extinguishers

35




EXEMPLARY RESPONSE

55

It is recommended that one fire extinguisher be available for every 6,000 square feet in
a building. Write and solve an equation to determine x, the number of fire
extinguishers needed for a building that has 135,000 square feet.

Show your work.

6.000 = x= 135,000
x = 135,000 = 6.000

x=2215

Or other valid process

22 0r23 or22.5 ) . .
Answer fire extinguishers

36




GUIDE PAPER 1 Additio nal

55 It is recommended that one fire extinguisher be available for every 6,000 square feet in

a building, Write and solve an equation to determine x, the number o fire
extinguishers needed for a building that has 135,000 sguare feet.

Show your work.

oo —:r"‘—‘—'f"-% o

1280

J

|
1)

Answer 2'5 fire extinguishers

Score Point 2 (out of 2 points)

This responsdemonstrates a thorough understanding of the mathematical conce
the task.The equation is correctly written and solved with the appropriate ang
indicated. This response indicates that the student has completed the task co
using mathematidly sound procedures.

37



GUIDE PAPER 2

55

It is recommended that one fire extinguisher be available for every 6,000 square feet in
a building, Write and solve an eguation to determine x, the number of fire
extinguishers needed for a building that has 135,000 square feet.

Show your work.
b 0oox 3 =135,000

L&
\peox2: \Op© Sy
o o¥5° 3{?."‘:‘; hoow ¥ 725 1250e
. P
b(\ﬂt f? J.D..tsﬂ:n €
Y >
{:ct_[:fhh - \Blr
4 . a0
p000X 752 B
q 0¥ 2600
oL "2 &= -
L
A 22.5 fire extinguishers

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.The correct equation is provided along with the correct solution.

38



GUIDE PAPER 3

55

It is recommended that one fire extinguisher be available for every 6,000 square feet in
a building, Write and solve an equation o determine x, the number of fire
extinguishers needed for a building that has 135,000 square feet.

Show your work.

f

AOX={25,000

P~

Answer T fire extinguishers

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task. The equation is correctly written and solwedh the appropriate answel
indicated.This response indicates thiie student has completed the task correct
using mathematically sound procedures.
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GUIDE PAPER 4

55 It is recommended that one fire extinguisher be available for every 6,000 square feet in

a building. Write and solve an equation to determine x, the number of fire
extinguishers needed for a building that has 135,000 square feet,

Show your work.

‘Y N
Answer c] J - 5 fire extinguishers

ScorePoint 1 (out of 2 points)

This responsdemonstrates only a partial understanding of the mathematical con
in the task. Thenumber 6 fire extinguishers icorrectly determinegd however,an
incorrect equation is provided to solve for the solutiohhis response correctly

addresses only some elements of the task.
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GUIDE PAPER 5

55

It is recommended that one fire extinguisher be available for every 6,000 square feet in

a building, Write and solve an equation to determine x, tie number of fire —
extinguishers needed for a building that has 135,000 square feet.

Show vour work.

& £ e =rkarT — Yy '.._:_‘: At
] P
| Sy
| - . -2
] \ AN G- P e —
e | RN Y | e PR P
SRR AL B - -
fr— ! g a T
o = _- i
——t =
f ==y
—2 e __: : = -
Answer (0 00~ 271 " fire extinguishers

ScorePoint 1 (out of 2 points)

This responséemonstrates only a partial understanding of the matieahaoncepts
in the task. Theesponse correctly solves for the proper number of fire extinguisl
(135,000+ 6,000; however an equation is ngbrovided This response contains th
correct solutbn but required work is incomplete.

41



GUIDE PAPER 6

55

It is recommended that one fire extinguisher be available for every 6,000 square feet in

a building, Write and solve an equation to determine x, the number of fire
extinguishers needed for a building that has 135,000 square feet,

Show your work,

Answer z72. 5 fire extinguishers

Score Point 1 (out of 2 points)

This responsdemonstrates only a partial understanding of thénemahtical concepts
in the taskTheresponse correctly solves for the propamber of fire etinguishers
however, an equation is not providékhis response correctly addresses only so

elements of the task.
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GUIDE PAPER 7

55

It is recommended that one fire extinguisher be available for every 6,000 square feet in
a building. Write and solve an equation to determine x, the number of fire
extinguishers needed for a building that has 135,000 square feet,

Skow your work.

X + L,000 = \5,>

x =\ 24,000 i
| 29,000
(0,00

25, 000

Answer _\_af;ﬁ 0 fire extinguishers

Score Point 0 (out of 2 points)

Holistically, this responseis not sufficient to demonstrate even a limite
uncerstanding of the mathematical concepts in the taske equationwritten is
incorrect and is used to determine the incorrect numibine extinguishers
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GUIDE PAPER 8 Additional

It is recommended that one fire extinguisher be available for every 6,000 square feet in
a building, Write and solve an equation to determine x, the number of fire

55

extinguishers needed for a building that has 135,000 square feet.

Show your work.

1

1
U A O n L
1 1} } . fire extinguishers

Score Point 0 (out of 2 points)

This responseas not sufficient to dewnstrate even a limited understanding of tl
mathematical concepts in the taSlalues from the prompt are inappropriately adde
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56

A company sells cereal in two different-sized boxes. The smaller box has the dimensions
shown below.

Smaller Cereal Box

12 in.

The height of the smaller box is 80% of the height of the larger box, while the other
two dimensions are the same for both boxes. What is the difference in the volumes of
the two boxes?

Show your work.

Answer cubic inches
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EXEMPLARY RESPONSE

56 A company sells cereal in two different-sized boxes. The smaller box has the dimensions
shown below.

Smaller Cereal Box

2in.
The height of the smaller box is 80% of the height of the larger box, while the other
two dimensions are the same for both boxes. What is the difference in the volumes of

the two boxes?

Show your work.

Volume of smaller box: 734 = 2 = 12 = 186 cubic inches
Volume of larger box: 08h=12

h=12+028

si=15 inches

734 %= 2 = 15 =232.5 cubic inches

Difference in the volume: 2325 -186=46.5

Or other valid process

465
Answer _ . cubic inches
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GUIDE PAPER 1 Additional

56 A company sells cereal in two different-sized boxes. The smaller box has the dimensions

shown below.

Smaller Cereal Box

12in.

The height of the smaller box is 80% of the height of the larger box, while the other

twio dimensions are the same for both boxes. What is the difference in the volumes of
the two boxes?

Show your work.

Score Point 2 (out of 2 points)

This respoee demonstrates a thorough understanding of the mathematical conce
the task.The response correcttletermineghe volume of both cereal boxes and thé
subtracts for a correct solution of the differericethe volumes This response

indicates that t# student has completed the task correctly, using mathemati
sound procedures.
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GUIDE PAPER 2

56 A company sells cereal in two different-sized boxes. The smaller box has the dimensions
shown below.

Smaller Cereal Box

12in.

The height of the smaller box is 80% of the height of the larger box, while the other
two dimensions are the same for both boxes. What is the difference in the volumes of

the two boxes?
A | 2% Z 73
ShnurrMWrt; e
VL Far = LA x 31
_":TQ - | O & |
Ly T-_l‘(‘l' .'lljﬁ\’
Zyx=120 ,
x =15 B-15%2=7%
__f'; 2 1
=5,
232.5 - 865
_ 86,0 2 .
— - ﬂ]_,__ \v—--f
L{'-[;-'E" '-,.';.5
L o €
Answer 16 - e cubic inches

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.The respose uses rais to correctly determinthe height of the larger box|
The voume of both cereal boxas correctly calculatecand the differencen the
volumes isdeterminedfor the correct solution. This response indicates that tk
student has completed the task caitge using mathematically sound procedures.

48



GUIDE PAPER 3

56 A company sells cereal in two different-sized bexes. The smaller box has the dimensions
shown below.

Smaller Cereal Box

12 in.

=

The height of the smaller box Isﬂgb af the height of the larger box, while the other
two dimensions are the same for both boxes. What is the difference in the volumes of

the two boxes? - 3
n 3Y= i %,
Show your work. 375':"'15‘ 51} Box
Emadl Box == H. 457n
Ho 42l L =7&7n
-~ 1 W
L= 7% l‘ﬂ 13{_ 2 a
W= Lin =186 a5X 2~ 30 N
ARAZTLY 6% '?%).’35’— 2323

Y T

4t

Answr cubic inches

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.The response correcttieterminegshe volume of both ceat boxes and then
subtracts for a correct solution of the differentéhe volumesAs per Scoring Policy
#6, if the student has written more than ongoese but has crossed some out, rat
should score only the response thatiatdeen crossed out
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GUIDE PAPER 4

56 A company sells cereal in two different-sized boxes. The smaller box has the dimensions

shown below.

Smaller Cereal Box

12 in.

The height of the smaller box is 80% of the height of the larger box, while the other
two dimensions are the same for both boxes. What is the difference in the volumes of
the two boxes?

Show your work. 135'5-
| -1 §6
G V=laxax 7275 186 G

20
L V:FS x 23 7= 235.5 l/,m

Answer L/ q ' S cubic inches

Score Point 1 (out of 2 points)

This responsdemonstrates only a partial understanding of the mathematical cong
in the task. The volume of the snaltereal box is correctly calculated; howeube
work for the volume of the larger cereal box contains a calculation error. T

response contains an incorrect solution but applies a mathematically appro
process.

50



GUIDE PAPER 5

56 A company sells cereal in two different-sized boxes. The smaller box has the dimensions

shown below.

Smaller Cereal Box

Ve

The height of the smaller box is70% of the height of the larger box, while the other
two dimensions are the same for both boxes. What is the difference in the volumes of

the two boxes?
Show your work. 12..1 2
Theix 2 x ]2 1€9.\
W Y2
L A [ = - _
g = 186
P4
Answer — cubic inches

Score Point 1 (out of 2 points)

This responsdemonstrates only a partial undargding of the mathematical concepi
in the task. The volume of the snaltereal box is correctly calculated; however, tf
height of the larger cereal box is incorrect resulting in an incorrect volume of
larger cereal box. Thdifference between thewvo volumesis thenusedto determine
the solution.This response contains an incorrect solution but applies a mathemat
appropriate process.
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GUIDE PAPER 6

56

A company sells cereal in two different-sized boxes. The smaller box has the dimensions
shown below.

Smaller Cereal Box

12in.

The height of the smaller box is 280% of the height of the larger box, while the other
two dimensions are the same for both boxes. What is the difference in the volumes of
the two boxes?

Show your work.
> 2 AW
1% 2 A
12 ? TE e
x 2 L:-‘:'T-
risi .
X3 Y
v InT)
T——— 1 T
1B RS
Answer 1Al cubic inches

This responsdemonstrates only a partial understing of the mathematical concept
in the task. The volume of the snaltereal box is correctly calculated. The volum
of the larger cereal box alculatedncorrecty (186x 2), then thedifference betwen

the two volumes isleterminedfor the solution. This response contains an incorre

ScorePoint 1 (out of 2 points)

solution but applies some mathematically appropriate processes.
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GUIDE PAPER 7

56 A company sells cereal in two different-sized boxes, The smaller box has the dimensions

shown below.

Smaller Cereal Box

12in.

I

2in.

The height of the smaller box is 30% of the height of the larger box, while the other

two dimensions are the same for both boxes. What is the difference in the volumes of
the two boxes?

Show your work.
e L e I
v_ L

V- 73/ -2 +12
.\/3'1?"1'

Answer 1 Z Cﬁ cubic inches

Score Point 0 (out of 2 points)

Holistically thisresponsés not sufficient to demonstrate even a limited understand
of the mathematical concepts in the task. Although the equation for the volume
small cereal box is correctly showhcontains a calculation errand no other work
Is provided
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GUIDE PAPER 8 Additional

56 A company sells cereal in two different-sized boxes. The smaller box has the dimensions
shown below.

Smaller Cereal Box

12 in.

L

The heigh.t of the smaller box is 80% of the height of the larger box, while the other
two dimensions are the same for both boxes, What is the difference in the volumes of

the two boxes?
P RN

Show your work.

. 1\_1\ . -
- @.Dj .20

= = | Tk .
f 49.% g6 ) @L.oU .
03129 1Y THANY,
EJEIQ'Q lul?'a(:}
I
\ aL.q \
Answer 3‘7-8 : cubic inches

Score Point 0 (out of 2 points)

Holistically this response is not sufficient to demonstrate even a limited understai
of the mathematicaktoncepts in the taskche volume of the smaller box ghown
however, it is unclear how it was calculatedhd& otherwork contains multiple
incorrectprocedurs thatdemonstrate no understanding of how to use this value.
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57

The area of Brian's rectangular garden, in square feet, can be found by using the
expression B(2x +5y). Use the distributive property to write an equivalent expression
for the area of Brian's garden.

Equivalent expression

Use your equivalent expression to find the area of Brian's garden, in square feet,
if x=3 and y=4.

Show your work.

Area square feet

55




EXEMPLARY RESPONSE

57

The area of Brian's rectangular garden, in square feet, can be found by using the
expression 6(2x +5y). Use the distributive property to write an equivalent expression
for the area of Brian's garden

12x+ 30p
Equivalent expression

Use your equivalent expression to find the area of Brian's garden, in square feet,
if x=3 and y=4.

Show your work.

12(3) + 30(4)
36+ 120

156

Or other valid process

156

Area square feet
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GUIDE PAPER 1 Additional

S7 The area of Brian's rectangular garden, in square feet, can be found by using the

expression B(2x +5y). Use the distributive property to write an equivalent expression
for the area of Brian's garden.

Equivalent expression 4@!1 {'E“J '};}

Use your equivalent expression to find the area of Brian's garden, in square feet,
if x=3 and y=4.

Show your work.

L
Area _[A‘_‘,x_ square feet

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task. The distributive property is correctly applied to the expression to cahst
an equivalent expression. Thaguivalent expression is used to correctly solve for {
area of the garden. This response indicates that the student has completed t
correctly, using mathematically sound procedures.
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GUIDE PAPER 2

57 The area of Brian's rectangular garden, in square feet, can be found by

using the expression 6(2x+ 5)). Use the distributive property to write an
equivalent expression for the area of Brian's garden.

12x+30y

Equivalent expression

Use your equivalent expression to find the area of Brian's garden, in
square feet, if x=3 and y= 4.

Show your work.

12(3)+30(4)
36+120=156

Area | 156 | square feet

Score Point 2 (out of 2 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.The distributive property is correctly pled to the expression to construg

an equivalent expression. This equivalent expression is used to correctly solve f
area of the garden.
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GUIDE PAPER 3

57 The area of Brian's rectangular garden, in square feet, can be found by using the

exprassion 6(2x +5y). Use the distributive property to write an equivalent expression

for the area of Brian's garden. 5 )
6 (2x+2¥ 1t 3/23;

Equivalent expression

Use your equivalent expression to find the area of Brian's garden, in square feet,
if x=3 and y=4.

Show your work.

ﬂxgzjué
30x4=120
D000 = I5¢

Area iﬁ_f:s_' square feet

Score Point 2 (out of 2 points)

This response demonstrates a thorough understaptlihe mathematical concepts i
the task. The distributive property is correctly applied to the expression to @bng
an equivalent expression. Thaguivalent expression is used to correctliyesdor the
area of the garden.

59



GUIDE PAPER 4

57 The area of Brian's rectangular garden, in square feet, can be found by

using the expression 6(2x+ 5)). Use the distributive property to write
an equivalent expression for the area of Brian's garden.

Equivalent expression |12x + 5y

Use your equivalent expression to find the area of Brian's garden, in
square feet, if x=3 and y= 4.

Show your work.

12%x + by
12X3+5X4
36 + 20
56 square feet

Area | 56 | square feet

Score Point 1 (out of 2 points)

This response demonstrates only a partial understanding of the mathematical co
in the task. The value of 6 is only distributedhe term2x rather than to both terms
within the parenthesess a result, # expression is not equivalent to the give
expression. The student then correctly seligr the area of the garden ngi the
expresion they createdAs per Scoring Policy #8if a response shows repeate
occurrences of the same conceptual error withiguastion,the conceptual error
should not be considered more than once in gauging the demonstrated le
understanding.
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GUIDE PAPER 5

57

The area of Brian's rectangular garden, in square feet, can be found by

using the expression 6(2x+ 5)). Use the distributive property to write an
equivalent expression for the area of Brian's garden.

Equivalent expression |{12X+30Y}

Use your equivalent expression to find the area of Brian's garden, in
square feet, if x=3 and y=4.

Show your work.

(NO STUDENT RESPONSE GIVEN)

Area |156| square feet

Score Point 1 (out of 2 points)

This responsdemonstrates only a partial understanding of the matteahaoncepts
in the task.The distributive property is correctly applied to construct an equiva
expression however, no work is provided for the calculationtbé area forthe
garden This response correctly addresses only some elements of the task.
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GUIDE PAPER 6

57 The area of Brian's rectangular garden, in square feet, can be found by using the

expression 6(2x +5y). Use the distributive property to write an equivalent expression
for the area of Brian's garden. )

6('[x T H}f)r{"_n
, 7

Equivalent expression

Use your equivalent expression to find the area of Brian's garden, in square feet,
if x=3 and y=4.

Show your work.

Area _"_ _ﬂ_j é square feet

ScorePoint 1 (out of 2 points)

This responsdemonstrates only a partial understanding of the mathematical con
in the task. This response follows a correct procedure to determine the solution ¢
square feet; howeverthe expression provided is not equivalent. This respo
correctly addresses only some elements of the task.
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GUIDE PAPER 7
57 The area of Brian's rectangular garden, in square feet, can be found by

using the expression 6(2x+ 5)). Use the distributive property to write
an equivalent expression for the area of Brian's garden.

1[6(2X+5Y)]

Equivalent expression

Use your equivalent expression to find the area of Brian's garden, in
square feet, if x= 3 and y= 4.

Show your work.

(NO STUDENT RESPONSE GIVEN)

Area square feet

Score Point 0 (out of 2 points)

This responses not sufficient to demonstrate even a limited understanding of
mathematical concepts in the taskhe expression provided is copied from th
prompt multiplied by 1and does rntouse the distributive propertglthough the final
solution is correct, as per Scoring Polic@,#f students are directed to show work,
corre¢ answer with no work shown receives no credit.
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GUIDE PAPER 8 Additional

57

The area of Brian's rectangular garden, in square feet, can be found by using the

expression 6(2x +5y). Use the distributive property to write an equivalent expression
for the area of Brian's garden. _ . e

L=

Equivalent expression | £§H+7 )

Use your equivalent expression to find the area of Brian's garden, in square feet,
if x=3 and y=4.

Show your work.

Am{igg square feet

Score Point 0 (out of 2 points)

This responseas not sufficient to demonstrate even a limited understanding of

mathematical concepts in the tadikie expressions copied fromthe promptand
work is incorrect.
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58 A hotel has a number of meeting rooms, m, available for events. Each meeting room has 325

chairs. Write an equation to represent ¢, the total number of chairs, in all of the meeting
rooms at the hotel.

Equation

If m =7 use your equation to find the total number of chairs in all of the meeting rooms at
the hotel.

Show your work.

Answer chairs
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EXEMPLARY RESPONSE

58 A hotel has a number of meeting rooms, m, available for events. Each meeting room has 325
chairs. Write an equation to represent ¢, the total number of chairs, in all of the meeting

rooms at the hotel,
Equation 325m=¢

If m =7 use your eguation to find the total number of chairs in all of the meeting rooms at
the hotel,

Show your wark.

325=T7=¢

2275 =¢

Or other valid process

Answer 22735 chairs
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GUIDE PAPER 1 Additional

58 A hotel has a number of meeting rooms, m, available for events. Each

meeting room has 325 chairs. Write an equation to represent ¢ the total
number of chairs, in all of the meeting rooms at the hotel.

Equation |C=325m

Iif m = 7 use your equation to find the total number of chairs in all of
the meeting rooms at the hotel.

Show your work.

Tx325=2275

2275

Answer chairs

Score Point 3 (out of 3 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.An appropriate equatiois written and used to correctly solve for thatal
number of chairsThis response indicates that the student has used mathemat
sound procedures.
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GUIDE PAPER 2

58 A hotel has a number of meeting rooms, m, available for events. Each

meeting room has 325 chairs. Write an equation to represent ¢, the total
number of chairs, in all of the meeting rooms at the hotel.

Equation | M.325=c

if m= 7 use your equation to find the total number of chairs in all of
the meeting rooms at the hotel.

Show your work.
3257
Answer 2275 chairs

Score Point 3 (out of 3 points)

This response demonstrates a thorougletstanding of the mathematical concepts
the task.An appropriate equation is written and used to correctly solve for the 1
number of chairsAlthough a period is used in place of a multiplicatgign this
constitutes an inconsequential error tthaes not detract from the correct solution al
thedemonstrabn of a thorough understanding.
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GUIDE PAPER 3

58 A hotel has a number of meeting rooms, m, available for events. Each

meeting room has 325 chairs. Write an equation to represent ¢ the total
number of chairs, in all of the meeting rooms at the hotel.

Equaﬂbn m*325=c

If m= 7 use your equation to find the total number of chairs in all of the
meeting rooms at the hotel.

Show your work.

3 2 5"7=(7*5=35)+(7*20=140)+(7*300=2100)=2275

Answer 2275 chairs

Score Point 3 (out of 3 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.An appopriate equation is written and used to correctly solve for the t

number of chairsThis response indicates that the student has used mathemat
sound procedures.
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GUIDE PAPER 4

58 A hotel has a number of meeting rooms, m, available for events. Each

meeting room has 325 chairs. Write an equation to represent ¢ the total
number of chairs, in all of the meeting rooms at the hotel.

Equation | m325

Iif m = 7 use your equation to find the total number of chairs in all of
the meeting rooms at the hotel.

Show your work.

I multiplied 325 charis by the number of rooms which was 7 and got 2275 chairs total,

2275
Answer chairs

ScorePoint 2 (out of 3 points)

This respons@lemonstrate a partial understanding of the mathematical concepty
the task. A correct solution gdeterminedoy appropriately multiplying the number o
chairs by the number of meeting rooms; however, the work does not conta

equation, only an expression psovided The response addresses most, but not
aspects of the task.
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GUIDE PAPER 5

58 A hotel has a number of meeting rooms, /m, available for events. Each

meeting room has 325 chairs. Write an equation to represent ¢ the total
number of chairs, in all of the meeting rooms at the hotel.

325%7=c

Equation

If m= 7 use your equation to find the total number of chairs in all of
the meeting rooms at the hotel.

Show your work.

320X7=2875
c=2875

Answer 2875 chairs

Score Point 2 (out of 3 points)

This respons@lemonstrates a partial understanding of the mathematical concey
the task. An appropriate equationwisitten; however, the value of 7 is used in plag
of the variablem. The response contains an incorrect solution due to a calcula
error, but provides sound procedures.
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GUIDE PAPER 6

58 A hotel has a number of meeting rooms, m, available for events. Each meeting room has

325 chairs. Write an equation to represent ¢, the total number of chairs, in all of the
meeting rooms at the hotel.

Equation 325timesM

If m= 7 use your equation to find the total number of chairs in all of the meeting rooms
at the hotel.

Show your work.

You have to multiply the # of meeting rooms by how many chairs are: in each meeting room and
it will equal 2275

Answer| 2275 | chairs

Score Point 2 (out of 3 points)

This responselemonstrates a pél understanding of the mathematical concepts
the task. A correct solution determinedoy appropriately multiplying the number o
chairs by the number of meeting raenmoweverpnly an expression is providetihe
response addresses most, but Haspects of the task.
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GUIDE PAPER 7

58 A hotel has a number of meeting rooms, /m, available for events. Each

meeting room has 325 chairs. Write an equation to represent ¢ the total
number of chairs, in all of the meeting rooms at the hotel.

TM+C=325

Equation

If m= 17 use your equation to find the total number of chairs in all of
the meeting rooms at the hotel.

Show your work.

7*325=1175

1175

Answer chairs

Score Point 1 (out of 3 points)

This response demonstrates only a limited understanding of the mathem
concepts in the task. The number of chairs per meeting room is appropr
multiplied by the mmber of meeting rooms; however, the solution containg
calculaton error ad the equation provided is incorreckhis response exhibits
multiple flaws related to misunderstanding of important aspects of the task.
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GUIDE PAPER 8 Additional

58 A hotel has a number of meeting rooms, m, available for events. Each

meeting room has 325 chairs. Write an equation to represent ¢ the total
number of chairs, in all of the meeting rooms at the hotel.

Tx325=

Equation

If m= 7 use your equation to find the total number of chairs in all of
the meeting rooms at the hotel.

Show your work.
Tx
325=3275
Answer 3275 chairs

Score Point 1 (out of 3 points)

This response demonstrates only a limited understanding of the mathem
concepts in the task. A solution determinedby appropriately multiplying the
number of chairs by the number of meeting rooms; however, the solution cantg
calculation errorand the equation provided incomplete This response addresse
some elements of the task correctly but reaches an inadequate solution.
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GUIDE PAPER 9

58 A hotel has a number of meeting rooms, m, available for events. Each

meeting room has 325 chairs. Write an equation to represent ¢ the total
number of chairs, in all of the meeting rooms at the hotel.

Equation L ST(M329)

If m= 17 use your equation to find the total number of chairs in all of
the meeting rooms at the hotel.

Show your work.

(NO STUDENT RESPONSE GIVEN)

Answer 2275 chairs

Score Point 1 (out of 3 points)

This response demonstrates only a kditunderstanding of the mathematic
concepts in the task. A correct solutiométermineddy appropriately multiplying the
number of chairs by the number of meeting rooms, which is related tontl325)
termshown however, the expression provided isdrrect ands not an equation.
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GUIDE PAPER 10

58 A hotel has a number of meeting rooms, /m, available for events. Each

meeting room has 325 chairs. Write an equation to represent ¢, the total
number of chairs, in all of the meeting rooms at the hotel.

Equation mxc

If m= 17 use your equation to find the total number of chairs in all of
the meeting rooms at the hotel.

Show your work.

(NO STUDENT RESPONSE GIVEN)

Answer 2275 chairs

Score Point 0 (out of 3 points)

This responses not sufficient to demonstrate even a limited understanding of
mathematical concepts in the task. The expregziovideddoesnot support théinal

solution. Although the solution is correct, as per Scoring Pol&yif#students are
directed to show work, a correct answer with no work shown receives no credit.
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GUIDE PAPER 11 Additional

58 A hotel has a number of meeting rooms, m, available for events. Each

meeting room has 325 chairs. Write an equation to represent ¢ the total
number of chairs, in all of the meeting rooms at the hotel.

325/c=m

Equation

If m =7 use your equation to find the total number of chairs in all of the
meeting rooms at the hotel.

Show your work.

325/c=m
325/c=7 325/7=46.42857142857143 rounded 47

47

Answer chairs

Score Point 0 (out of 3 points)

This responses not stficient to demonstrate even a limited understanding of 1{
mathematical concepts in the task. This response con@ainsicorrect solution
obtained using an obviously incorrect procedure.
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59

Jimmy and his family are on their way to visit some family friends who live

780 miles away from them. Based on the route they chose, they expect to
complete their trip in three days. The distances and average speeds for the
first two days driven are shown below.

= First day: 4 hours at an average speed of 60 miles per hour

= Second day: 6 hours at an average speed of 65 miles per hour

If the average speed on the third day is 60 miles per hour, how many more
hours will it take for them to reach their family friends’ home?

Show your work.

Answer __ hours
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EXEMPLARY RESPONSE

59

Jimmy and his family are on their way to visit some family friends who live
780 miles away from them. Based on the route they chose, they expect to
complete their trip in three days. The distances and average speeds for the
first two days driven are shown below.

* First day: 4 hours at an average speed of 60 miles per hour

» Second day: 6 hours at an average speed of 65 miles per hour

If the average speed on the third day is 60 miles per hour, how many more
hours will it take for them to reach their family friends’ home?

Show your work.

4(60) + 6(65) + x(60) = 780
240 + 390 + 60x =780

630 + 60x =780

60x = 150

x =25 hours

Or other valid process

2.5
Answer _____________ hours
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GUIDE PAPER 1 Additional

59

Jimery and his family are on their way to visit some family friends wha live

T80 milas away from them. Based on the route they chase, they expect to

complete their trip in three days. The distances and average speeds for the
tirst two days driven are shimam below.

# First day: 4 Rours at an average speed of 60 miles per hour

= Second day: & hours at an average speed of 85 milles per hour

If the average speed on the third day ic 60 milss per howr, how many more
hours waill it take for them to reach thelr family friendy home?

Show your wark.

D&ijl | r‘-}\‘%b r*'-.l. |'?“:|

- TE
DQ.JI -:3 ':_,; 3@ ™ 1{?5 i idxlﬁ
J
(L 2 — S 0
=—"1-: 2 150 miles
? he A
l". 0 S

N T

Answar _.i'n__:i - haurs

Score Point 3 (out of 3 points)

This response demonstrates a thorough understanding of the mathematical cong
the taskThe number of miles traveled on the first two days is correctly calculated
then subtracted from the total milesdetermne the number of miles to be travele

on the third day. The speed from the third day is then used to correctly calcula
solution.
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GUIDE PAPER 2

59 Jimmy and his family are on their way w visit some family friends who live

780 miles away from them. Based on the route they chose, they expect to
complete their trip in three days. The distances and average speeds for the
first two days driven are shown below,

= First day: 4 hours at an average speed of 60 miles per hour

+ Second day: 6 hours at an average speed of 65 miles per hour

If the average speed on the third day is 680 miles per hour, how many more
hours will it take for them to reach their family friends' home?

Show your work,

x> I;' it - _-"r ll‘-‘:) -'J,-rfr-f
5 s € ) 5 o |'|r,,s 5
I:. _:'J .:.___
- R &
/’ — ”f: i i
o S
b D) f )y (7 - =
; ‘\l {_ oo
i )
et
28
Answer ________ hours

Score Point 3 (out of 3 points)

This response demonstrates a thorough understanding of themadical concepts in
the task.The number of miles to be traveled on the third day is correctly calcul
and the speed from the third day is then used to correctly calculate the solution
response indicates that the student has used mathemedaatlg procedures.
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GUIDE PAPER 3

59 Jimmy and his family are on their way to visit some family friends who live

780 miles away from them. Based on the route they chose, they expect to
complete their trip in three days. The distances and average speeds for the
first two days driven are shown below.

* First day: 4 hours at an average speed of 60 miles per hour

« Second day: 6 hours at an average speed of 65 miles per hour

If the average speed on the third day is 60 miles per hour, how many more
hours will it take for them to reach their family friends’ home?

Show your work. Cal::} '3 CJ:J
¥ "’\ y

WHe  FAO0
: 390 o

AdH0 a6
C30

Answer

'l A
—9 hours

Score Point 3 (out of 3 points)

This response demonstrates a thorough understanding of the mathematical cong
the task. The number of miles to be traveled on the third day is correctly calcy
and a correct solution is determined, using mathematically sound proceddurhs.

final division is performed mentally, whiak acceptable.
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GUIDE PAPER 4

59 Jimmy and his family are on their way to visit some family friends who live

780 miles away from them. Based on the route they chose, they expect to
complete their trip in three days. The distances and average speeds for the
first two days driven are shown below.

= First day: 4 hours at an average speed of 60 miles per hour

* Second day: 6 hours at an average speed of 65 miles per hour

i the average speed on the third day is 60 miles per hour, how many more
hours will it take for them to reach their family friends’ home?

Show your work. I'/O 85

¥
x Y re

740
}‘Ff‘. \

7;;1 / ;J-qlf)

- |: .{{J Fﬁ:f‘ﬁr

|50 ioe

G

Answer M.‘_ hours

Score Point 2 (out of 3 points)

This respons@lemonstrates a partial understanding of the madhieah concepts in
the task. The number of miles to be traveled on the third day is correctly calcu
however, the solution of 2h 3m recorded on the answer blank is incarrdabot

supported by the work showrmThe response contains an incorrect sofutbut
provides sound reasoning.
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GUIDE PAPER 5

59

Jimmy and his family are on their way to visit some family friends who live

780 miles away from them. Based on the route they chose, they expect to
complete their trip in three days. The distances and average speeds for the
first two days driven are shown below.

= First day: 4 hours at an average speed of 60 miles per hour
* Second day: 6 hours at an average speed of 65 miles per hour
It the average speed on the third day is 60 miles per hour, how many more

hours will it take for them to reach their family friends’ home? o
'

6 y@.
Show your work. & e
63© x A 290
. a
3 ':;'l‘.' |
v A0 290
,{,_-C' Lhnr '*"_?l_‘o
IS - B & 5 &
150

Answer _/L hours

Score Point 2 (out of 3 points)

This responselemonstrates a partial understanding of the mathematical concey
the task.The number of miles traveled on the first two days is correctlyulzaéd.
The speed for the third day is added to the total miles for the first two days unti
miles is reached; however, 30 miles is unaccounted for and the 2 hou
misinterpreted as the final solution &lhesponse appropriately addresses most,
not all aspects of the task using mathematically sound procedures.
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GUIDE PAPER 6

59 Jimwmy and his family are on their way to visit some family friends wha live
780 miles away from them. Based on the route they chose, they expect to

complete their trip in three days. The dotances and average speeds for the
first two days driven are shown below.

* First day: 4 hours at an average speed of 60 miles per hour
# Second day: & hours at an average speed of 65 miles per hour

i the average speed on the third day is 60 miles par hour, how many more
hours will it take for them to reach their family friends’ home?
' _-'-
Show your work. AL
. -
: R L~ LAY
T .-f"":‘ - [} b .r"-»."

-

1 - i b ] ! ;
..--"’T} ? | /
L™ "'.-_|

4

—

o 2

Angwer __—_______ hours

Score Point 2 (out of 3 points)

This response@lemonstrates a partial understanding of the mathematical concey
the task The number of miles to be traveled twe third day is correctly calculated
however the solution of 3 hours recorded on the answer bianikcorrect andt is
unclearhow it was obtainedThe response contains an incorrect solution but provi

sound reasoning.
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GUIDE PAPER 7

59 Jimmy and his Tamily are on their way to visit some family friends who live

780 miles away from them. Based on the route they chose, they expect to
complete their trip in three days. The distances and average speeds for the
first two days driven are shown below.

= First day: 4 hours at an average speed of 60 miles per hour

+ Second day: 6 hours at an average speed of 65 miles per hour

If the average speed on the third day is 60 miles per hour, how many more
howrs will it take for them to reach their family friends' home?

SwrePoint 1 (out of 3 points)

This response demonstrates only a limited understanding of the mathem
concepts in the task. Although the total miles traveled on the first and second d:
correctly calculated and added together; it was incorrectrpreted as the final
solution. This response exhibits multiple flaws related to misunderstanding
important aspects of the tasks per Scoring Policy & if the student has written
more than one response but has crossed someratels should score rdy the
response that hamtbeen crossed out.
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GUIDE PAPER 8 Additional

59 Jimmy and his family are on their way 1o visit some family friends who live

780 miles away from them. Based on the route they chose, they expect to
complete their trip in three days. The distances and average speeds for the
first two days driven are shown below.

+ First day: 4 hours at an average speed of 60 miles per hour
+ Second day: 6 hours at an average speed of 65 miles per hour

If the average speed on the third day is 60 miles per hour, how many maore
howrs will it take for them to reach their family friends’ home!
1

i il

Show your work, L f‘.‘f D

3

Answer hours

Score Point 1 (out of 3 points)

This response demonstrates only a limited understanding of the mathem
concepts in the task. The total miles traveled on the first two dagsrisctly
calculated and added togethérowever, no other work is showfhis response
contains the correct solution brequired work is limited.
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GUIDE PAPER 9

59 Jimmy and his family are on their way to visit some family friends who live

780 miles away from them. Based on the route they chose, they expect to
complete their trip in three days. The distances and average speeds for the
first two days driven are shown below.

= First day: 4 hours at an average speed of 60 miles per hour

* Second day: 6 hours at an average speed of 65 miles per hour

If the average speed on the third day is 60 miles per hour, how many more
hours will it take for them to reach their family friends’ home?

Show your work.

P
Answer gz._; hours

ScorePoint 1 (out of 3 points)

This response demonstrates only a limited urdeding of the mathematica
concepts in the task. Thaumberof miles traveled on the firsaind second dais
correctly calculatedhowever, the difference betwe#re first day and second dag i
determinedThis response addresses some elements of thetasectlybut provides
reasoning that is faulty
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GUIDE PAPER 10

59 Jimmy and his family are on their way to visit some family friends who live

780 miles away from them. Based on the route they chose, they expect to
complete their trip in three days. The distances and average speeds for the
first two days driven are shown below.

* First day: 4 hours at an average speed of 60 miles per hour

* Second day: 6 hours at an average speed of 65 miles per hour

If the average speed on the third day is 60 miles per hour, how many more
hours will it take for them to reach their family friends' home?

Show your work.

C TH0
Yy 240
_Ii-:l --j .5‘-’4‘-“

Answer .ﬁﬂﬂ_ hours

Score Point 0 (out of 3 points)

The total miles traveled on the first daycorrectly stated; howeverthe operation
provided to show this calculation contains a transcripsiosar for the speed traveleq
on the first day(6 x 4 = 240), which is technically not calculated correcthhi3 value
iIs subtracted from the total distanaegnoring the total miles traveled dhe second
day, and the result is provided as the final solutHolistically the response isot
sufficient to demonstrate even a limited understanding of the mathematical con
embodied in the task.
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GUIDE PAPER 11 Additional

59

Jimmy and his family are on thelr way to visit some family friends who live

780 miles away from them. Based on the route they chose, they expect to
complete their trip in three days. The distances and average speeds for the
first two days driven are shown below.

* First day: 4 hours at an average speed of 60 miles per hour

* Second day: 6 hours at an average speed of 65 miles per hour

If the average speed on the third day is 80 miles per hour, how many mora
hours will it take for them to reach their family friends’ home?

Show your work.
] i ‘ " . |
i'i}"'\‘\:-ﬁ I r,i‘ - o o { Ir “ I
ool 41¢ (g 1o [ {1y ]

" 1
o |65 |70 fqg 0| 55 |

Answer L haurs

Score Point 0 (out of 3 points)

This responses not sufficient to demonstrate eve limited understanding of the
mathematical concepts in the ta3ke tableprovidedincorrectly infers a patterof 2
more hours at a speed of 5 more miles per baah additionadiay.
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60

1
A right rectangular prism has a length of 23 feet, a width of 3 feet, and a height

1
of 1? feet. Unit cubes with side lengths of % foot are added to completely fill
the prism with no space remaining. What is the volume, in cubic feet, of the right
rectangular prism?

Show your work.

AnSwer cubic feet

1
How many ?-fnnt unit cubes can be added to fill the prism completely? Use what
you know about unit cubes or the side lengths of prisms to show your work or

explain your answer.

Answer ______ unit cubes
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EXEMPLARY RESPONSE

60

1
A right rectangular prism has a length of EE feet, a width of 3 feet, and a height

1
of 13 feet. Unit cubes with side lengths of % foot are added to completely fill

the prism with no space remaining. What is the volume, in cubic feet, of the right
rectangular prism?

Show your work.
Ixwxh=F

2V x3ix1la=11%
Or other valid process

11% :
Answer cubic feet

How many %-foﬂt unit cubes can be added to fill the prism completely? Use what
you know about unit cubes or the side lengths of prisms to show your work or

explain your answer,

lhxlaxla=14
11% Y =11Ya =< § =90

Or other valid process

90
Answer _____________ unit cubes
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GUIDE PAPER 1 Additional

60

1
A right rectangular prism has a length of 2 feet, a width of 3 feet, and a height

e —

1 . R 1
of 1 s feet. w with side lengths of foot are added to co ill

the prism with ng_spacg remaining. What is the volume, irr:iy__bi_c_m of the right
e — ; L

e

_ 9dlL 3
8 :ﬁf

[
e “E cubic feet

1
How many ?-foot unit cubes can be added to fill the prism completely? Use what

e

you W or the side lengths of prisms to show your work or

explain your answer.
5] :@
Y ?

Answer J.D_ unit cubes

Score Point 3 (out of 3 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.The volumes of the rectangular prisamd the unit cube are correctly
calculated The vdume of the rectangular prisms tren divided by the volume of g
unit cube to correctly solve for the number of unit cubes that will tih@prism. This
response indicates that the student has completed the task correctly,
mathematically sound procedures.
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GUIDE PAPER 2

60

1
A right rectangular prism has a length of 2'2 feet, a width of 3 feet, and a height

1 1
of 1-2- feet. Unit cubes with side lengths of ) foot are added to completely fill
the prism with no space remaining. What is the volume, in cubic feet, of the right

rectangular prism?

322713
Show your work. % 1

\
A k h 4 cubic feet

How many %-foat unit cubes can be added to fill the prism completely? Use what
you know about unit cubes or the side lengths of prisms to show your work or
3 1 .
explain your answer, 1;_ khﬁ'w (;2_1 ":j TE; ﬂ"-"l l\i n %
Vs g Sawy ay \\4 '%, 50 1

m“‘ul'.éa_,,l 'th'ﬁn jﬁi} 9'5'1 +he o
l:]r Qa0 U'Lw’* r"J\"a"..

Answer & unit cubes

Score Point 3 (out of 3 points)

This response demonstrates a thorough understanding of the mathematical cong
the task.The volumes of the rectangular prism and the unit cube are corrg
calculated. The volume of the rectangular prism is theidelilvby the volume of a
unit cube to correctly solve for the number of unit cubes that will fit in the pfibis.
response is complete and correct.
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GUIDE PAPER 3

60

. . L
A right rectangular prism has a length of 2? feet, a width of 3 feet, and a height

1 1
of 15 feet. Unit cubes with side lengths of 7 foot are added to completely fill

the prism with no space remaining. What is the volume, in cubic feet, of the right
: ¢ il ] —

¢ sb=G e

rectangular prism? TR y

i VXD MM
1/;—‘»1;)1 \/ 5(9
- 30%3
70

1
How many E-fr.u:l‘c unit cubes can be added to fill the prism completely? Use what
you know about unit cubes or the side lengths of prisms to show your work or

explain your answer.

V= Sx§x3
\/; ('fy s 3

Score Point 3 (out of 3 points)

This response demonstrates a thorough undhelisiga of the mathematical concepts i
the task. The Mame of the rectangular prism correctly calculated. The number ¢
unit cubes that will fit along each side of théesm is calculatecand then multiplid to
determinethe correct totahumber of unitubes per prism.
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GUIDE PAPER 4

60

A right rectangular prism has a length of 2—;— feet, a width of 3 feet, and a height

1 1
of 13 feet. Unit cubes with side lengths of > foot are added to completely fill

the prism with no space remaining. What is the volume, in cubic feet, of the right

rectangular prism?

Show your work.

Answer _M cubic feet

1
How many -2--fout unit cubes can be added to fill the prism completely? Use what
you know about unit cubes or the side lengths of prisms to show your work or

explain your answer.

| e 6 € 2 — ¢J
sxd=dar= 221324
1|,--':\‘|| !-12 5
. Chect!
._Frr:-
= NTEY
ey
Answer /.9 unit cubes W=
V| =2

Score Point 2 (out of 3 points)

This response demonstrates a partial understanding of the mathematical conc
the task.The vdume of the rectangular prisns correctly calculatedhowever the
volume ofa unit cube s not calculated correctlyhe product otwo side lengthis
multiplied by 6 rather tharby 'g. The numbe of unit cubess correctly calculated
using tre incorrect volume of a unit cub&@he responsaddresses most, but not a

aspects ofthe task andeflects some minor misunderstanding of the underlyi
mathematical concepts.
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GUIDE PAPER 5

60 1

2

A right rectangular prism has a length of 2—- feet, a width of 3 feet, and a height

1 1
of 1 7 feet. Unit cubes with side lengths of 2 foot are added to completely fill

the prism with no space remaining. What is the volume, in cubic feet, of the right

e

rectangular prism? = -

Show your work.

e _Ll'_5_ cubic feet =/1 « :_- ¥ I ._

e
o
e (B
il
NS
I
o
J

1
How many ?afoot unit cubes can be added to fill the prism completely? Use what
you know about unit cubes or the side lengths of prisms to show your work or

explain your answer.

Answer jL unit cubes :}) > ) x {1 e

Score Point 2 (out of 3 points)

This response demonstrates a partial understanding of the mathematical conc
the task A correct pre@edure is followed to determirtee vdume of the rectangular
prism(V = 2%y x 3 x 11g); however a calculation erroresults in an incorrect solution
A diagram of the prisns used to courthe number of unit cubes that will fit on eac|
sideof the prism and then those numbers are multigbedeterminghe correct total
nunmber of unit cubes per prism. This response contam#correct solution but
provides sound procedures.
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GUIDE PAPER 6

60 it

2

A right rectangular prism has a length of 2— feet, a width of 3 feet, and a height

1 1
of 1? feet. Unit cubes with side lengths of > foot are added to completely fill

the prism with no space remaining. What is the volume, in cubic feet, of the right

rectangular prism? I

Show your work. _\ )-3-

ZIL b

- T

L) cubic feet

1
How many ?-fom unit cubes can be added to fill the prism completely? Use what

you know about unit cubes or the side lengths of prisms to show your work or

explain your answer. Pl ?r \L
|| .'|| 5

o

1
mLunhm

Score Point 2 (out of 3 points)

This responselemonstrates a partial understanding of the madkieat concepts in
the taskThe volume of the rectangular prism is calculated correcttia drawing of
the rectangular prismwith a label on each sideis provided Another diagramis
provided and each side is labelith a length of the prism andow many-s-foot
unit cubes will fit oneachside of therectangular prisnm{1s M3- W cubes3 M6-
1% cubes 25 M5- 15 cubes) however, noadditional operationis shown to support
how the correct solution is obtaineéthe responsappropriately addressasost, but
not all aspects of the task.

98




GUIDE PAPER 7

Ll
60 | #]
vk
: 1
A right rectangular prism has a length of 2-—2-- feet, a width of 3 feet, and a height
1 . i 1
of 13 feet. Unit cubes with side lengths of 2 foot are added to completely fill

the prism with no space remaining. What is the volume, in cubic feet, of the right

rectangular prism? 1| -_~'lj 'L’_,J glﬁ 'b = I!'l -
Show your work W=D 2.2 .32 4|
& \ i et i el R VL
u=\x 21 a ™

o
1
L

A

i ) \
ISR B OB o R

Answer .'.3-'1“” cubic feet {,y 1]
) L¥
A
1 \
How many —--foot unit cubes can be added to fill the prism completely? Use what

2

you know about unit cubes or the side lengths of prisms to show your work or

explain your answer.
Vou woulh Yoke Gne ww cue ang
dl\fl&f'_-mﬁ ![‘ﬂ‘D ‘nﬂ)lur;p yo
Soule et POUNT cubr S

Answer _%DL unit cubes

Score Point 1 (out of 3 points)

This response demonstrates only a limited understanding of the mathem
concepts in the taskT'he volune of the rectangular prismsi correctly shown
(2'a x 3 x 1'@) and a correct solution of iilis calculated; howevean additional is
addedto the answeresulting inan incorrect final solution of 1@. The work shown
for the number of unit cubes per prism is incorrect and incoherém. response
exhibits multiple flaws related to misunderstanding of important aspects of the ta
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GUIDE PAPER 8 Additional

60

: k 1
A right rectangular prism has a length of 23 feet, a width of 3 feet, and a height

1 1
of 1 5 feet. Unit cubes with side lengths of 5 foot are added to completely fill

the prism with no space remaining. What is the volume, in cubic feet, of the right

rectangular prism? =) S 9 S %S
Show your work.  \/{ - 3 K5 —-I-—.:;%——
h 125 L2 & Y
0s 0
Tl

Answer M cubic feet

1
How many E-fﬂ-ﬂt unit cubes can be added to fill the prism completely? Use what

you know about unit cubes or the side lengths of prisms to show your work or

AL
explain your answer., - ‘{:}m_?}___s
i
2
L2

e ——

o

Answer & unit cubes

This response demonstrates only a limited understanding of the mathem

Score Point 1 (out of 3 points)

concepts in the task. Theolume of the rectangular prism is correcttietermined

however the misplacement of the decimal point leads to an incorrect final solutior
the volume of the prisnm.he volume of the prism is incorrectly divided by the leng
of one of the unit cubes sisleThis responseexhibits multiple flaws related to

misunderstanding of important aspects of the task.
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GUIDE PAPER 9

; , 1
60 A right rectangular prism has a length of ?-5 feet, a width of 3 feet, and a height
1 : e 1
of 1? feet. Unit cubes with side lengths of 2 foot are added to completely fill

the prism with no space remaining. What is the volume, in cubic feet, of the right

rectangular prism?

///1
Show your work. '

\ <
Answer cubic feet

1
How many -E-fmt unit cubes can be added to fill the prism completely? Use what
you know about unit cubes or the side lengths of prisms to show your work or

explain your answer.

Ak K

Answer &' ' unit cubes

ScorePoint 1 (out of 3 points)

This response demonstrates only a limited understanding of the mathem
concepts in the taskhe volume of the rectangular prism is calculated correctly an
drawing of the rectangular prism with a label on each side is provided; howeve
operations are shown to support how the solution is obtairies.response contains
the correct voluméor the rectangular prism but required work is limit€de number
of unit cubes per prism is incorrect and no worgrevided.
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GUIDE PAPER 10

60

1
A right rectangular prism has a length of 23 feet, a width of 3 feet, and a height

1
r feet. Unit cubes with side lengths of % foot are added to completely fill

the prism with no space remaining. What is the volume, in cubic feet, of the right

of 1

i

rectangular prism? \ _l_:_ -
1L+t p=a
Show your work. ; L= 4y -‘I-}'l
Aot T — A
g TR T

cubic feet

1
How many ?fm unit cubes can be added to fill the prism completely? Use what

you know about unit cubes or the side lengths of prisms to show your work or

explain your answer.

Answer ____________ unit cubes

Score Point 0 (out of 3 points)

All of the given dimensions are improperly added togethelisticdly this response
is not sufficient to demonstrate even a limited understanding of the mathem
concepts in the task.
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GUIDE PAPER 11 Additional

3
2

60

A right rectangular prism has a length of 2 feet, a width of 3 feet, and a height

1 1
of 13 feet. Unit cubes with side lengths of E foot are added to completely fill
the prism with no space remaining. What is the volume, in cubic feet, of the right
rectangular prism?

Show your work.

%
Answer L cubic feet

1
How many E-fmt unit cubes can be added to fill the prism completely? Use what
you know about unit cubes or the side lengths of prisms to show your work or

explain your answer.

i

Answer J_"(._ unit cubes

ScorePoint 0 (out of 3 points)

Although two of the given dimensions are properly multiplied, holidyic#his
responseis not sufficient to demonstrate even a limited understanding of

mathematical concepts in the task.
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61

The table below shows the elevations atwhich different artifacts were found during an
archeological dig.

Artifact Elevation
arrow head 15 feet above sea level
bone 721 feet above sea level
clay bowl sea level
necklace 462 feet above sea level
woven basket 1,200 feet below sea level

Write the name of each artifact and the elevation atwhich each artifactwas found
using a positive integer, zero, or negative integer.

Explain how you determined if an elevation required a positive integer, zero, or
rnegative integer.
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EXEMPLARY RESPONSE

61

The table below shows the elevations atwhich different artifacts were found during an
archeological dig.

Artifact Elevation
arrow head 15 feet above sea level
bone 721 feet above sea level
clay bowl sea level
necklace 462 feet above sea level
woven basket 1,200 feet below sea level

Write the name of each artifact and the elevation atwhich each artifactwas found
Lsing a positive integer, zero, or negative intager.

arrow head = +13; bone =+721; clay bowl = 0; necklace = +462;

woven basket =-1200

Or other valid response

Explain how you determined if an elevation required a positive integer, zero, or
rnegative integer.

Artifacts found above sea level have a positive integer;

artifacts found at sea level are zero: artifacts found below

sea level have a negative integer. Or other valid response
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GUIDE PAPER 1 Additional

61| The table below shows the elevations at which different artifacts were

found during an archeological dig.

Artifact Elevation
arrow head 15 feet above sea level
bone 721 feet above sea level
clay bowl sea level
necklace 462 feet above sea level
woven basket 1,200 feet below sea level

Write the name of each artifact and the elevation at which each artifact
was found using a positive integer, zero, or negative integer.

Arrow head= 15 ft
Bone=721 ft

Clay bowl=0 ft
MNecklace=462 ft

Woven basket=-1200 ft

Score Point 3 (out of 3 points)

This response demonstratethorough understanding of the mathematical concept
the task.The artifacts are listed correctly with a positive integer for above sea l¢
zero for at sea level and a negative integer for below sea Vatlela correct
explanation of how the studedetermined if the integeiae positive or negative or
zero. This response indicates that the student has used mathematically
procedures.
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